Math 131 - Quiz 6 Name kﬂ&
October 5, 2022 ' Score

Show all work to receive full credit. Supply explanations when necessary. This quiz is due
October 10.

1. (2 points) The graphs of f and g are shown below. Use the chain rule and information
from the graphs to determine the derivative of g(f(z)) when z = 1.~
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2. (1 point) Determine f'(z) if f(z) = tan(rz? +x)
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.3. (1 point) Let h(z) = [f(z )]3 Given the following information, compute T(l)
FO=4, FO=-2. fO)=2 fO=6 [@=5 r@=-
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4. (2 points) Find an equation of the line tangent to the graph of y = /22 — 12 at the
point where z = 4.
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5. (1 point) Let h(z) = g(f(x)). leen the following 1nform\H‘m§n ‘compute h’ (2).
f@) =3 F@=8 J0)=0 g2 =-5 4¢@B)=9
h'od) = g (Fea) 3 Cx)

h'() = g ‘(%) ?(a‘) 8'(3‘) f¢) = 9.9 = (79

6. (3 points) Given the equation z* + 8zy + y® = 25z, use implicit differentiation to
d
determine % at the point (z,y) = (1, 2).
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